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MATHS -8 (CH-01- 1.1-RATIONAL NUMBERS)

Question 1:

Using appropriate properties find:
(i 2.3.5 31

35 25 6
el AN B B 1 3
W
Answer 1:
(i)
23 5 3 1 X g 3 ] 5

AN 2 LY 5 g g
=[__ x[—+—]+— ( Distributivity)
5)\3 6} 2
( 39 /2x2+|) 5 ( 3] [5\ 5
= -=x == —=|%X| = |+—=
wJL 6 J 2 L 5 GJ 2
_( 3]+5_ [—3+5x31_ [—3+I5‘|
Le) 2 6 3 6
6
(i)
2.4 3 3 2 2 3 2 ivi
Tx[_i]_l,‘_+L><—=7x[_l]+l><7—lxi (By commutativity)
50 7) 6 2 14 5 35 7) 14 5 6 2
2 3 1Y 1 G
="x| ——4+— [—— (By distributivity)
507 14) 4
2 ((=3x2+1Y 1
= —=X| - |-—---
*:L 14 4
2 (—5‘ 1
= —¥| —|——
5 114) 4
bt
7 4
_—4-7 -1l
- 28 28
Question 2:

Write the additive inverse of each of the following:
oD e =5 e 6 ey 2 19
(i) 3 (ii) 9 (ii) = (iv) =5 (V) =r
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Answer 2:
L
1) —
(i) .
Additive inverse = _é
.5
(1) e
Additive inverse = %
o -6 6
(1) =

Additive inverse = "?ﬁ

woo B D

V) oo

(iv) o

Additive inverse :%
19 -19

V) —=——

(v) e

Additive inverse =%

Question 3:
Verify that -(-x) = x for.
: LT op 13
) x=— (ii) x=-=
(3= (1) ===
Answer 3:
Al
() 2= 15
a2 : (
The additive inverse of x=lis —x=-1! as !+; —H]ﬂ:}
15 15 15 \ 15
This equality %ﬂ\—%]:ﬁ represents that the additive inverse of :—; is % or it can be said that
WY M o e
_[_E]_ls e, -(-x)=x
: 13
i) x=—-=
LU 17
The additive inverse of x=- is —x=1 as - 12,3 ¢
17 17 17 17
This equality -E+:—‘;=n represents that the additive inverse of % is —% ie,-(-x)=x
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Question 4:
Find the multiplicative inverse of the following.
: T L
(i) —13 (ii) e (iii) %

(iv) —?f‘x—; (v) i_?z (vi) -1

Answer 4:
(i) -13
Multiplicative inverse = —%
. 13
i) ——
(i) 5
Multiplicative inverse = -:_2

(iii) %

Multiplicative inverse = 5

Multiplicative inverse K

2 2
) P
v) -

Multiplicative inverse :%
(vi) -1
Multiplicative inverse = -1

Question 5:
Name the property under multiplication used in each of the following:
(|)—4x1=1x'_4=..ﬂ
55
13 -2 -2 -13
i) ——x—=—x—
) I# 3 5 A9
... =19 29
i) —x =2 =
(i 9 -19
Answer 5:
o 4 4
) ——xl=lgt=——=—=—
® 5 5 &

1 is the multiplicative identity.
(ii) Commutativity
(iif) Multiplicative inverse

ADDRESS : INFRONT OF ANIL BHATIA DUPLEX PARISAR, NEAR 60 FEET ROAD, SHATABDIPURAM, DD NAGAR, GWALIOR 3



.- DPM CLASSES & COMPUTERS
v:&) Special for Math’s & Science
=== By - Er. Dharmendra Sir (9584873492,7974073108)

Question 6:

Multiply % by the reciprocal of % )

Answer 6:
{ i
E><| Reciprocal of B O L
13 16, 13 7 91
Question 7:

{
Tell what property allows you to compute%x[ﬁx%] as | %xé]x% :
x

Answer /:
Associativity

Question 8:

Is %the multiplicative inverse of—l%? Why or why not?

Answer 8:

If it is the multiplicative inverse, then the product should be 1.
However, here, the productis not 1 as

§x(—]l]=§x[—g]=—l;ﬁ!
g\ 8) 9 8

Question 9:

Is 0.3 the multiplicative inverse of3% ? Why or why not?

Answer 9:
31_10
3 3
03x3lzp3x10_3,10_,
3 3 10 3

Here, the product is 1. Hence, 0.3 is the multiplicative inverse of.‘% :
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Question 10:

Write:

(i) The rational number that does not have a reciprocal.

(ii) The rational numbers that are equal to their reciprocals.
(iif) The rational number that is equal to its negative.

Answer 10:

(i) 0 is a rational number but its reciprocal is not defined.
(ii) 1 and -1 are the rational numbers that are equal to their reciprocals.
(iii) 0 is the rational number that is equal to its negative.

Question 11:
Fill in the blanks.
(i) Zero has reciprocal.
(ii) The numbers and are their own reciprocals

(iii) The reciprocal of - 5 is
(iv) Reciprocal of ,where x=0is ___ :
X

(v) The product of two rational numbers is always a
(vi) The reciprocal of a positive rational number is

Answer 11:

(M N
(i) 1J —‘l

(iii) -

(i) x

(v) Rational number

(vi) Positive rational number

MATHS -8 (CH-01- 1.2-RATIONAL NUMBERS)
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Question 1:

Represent these numbers on the number line.

) % (i) =

Answer 1:

() % can be represented on the number line as follows.

oy
4

(i) --% can be represented on the number line as follows.

-5
(4]

| o

I
(]

Question 2:
Represent ﬁI—fl_—? on the number line.
Answer 2:
;—IZI—]S;—? can be represented on the number line as follows.
=
11 0] LI @
=} i 1 "
Question 3:

Write five rational numbers which are smaller than 2.

Answer 3:

2 can be represented as?.

Therefore, five rational numbers smaller than 2 are

77777177
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Question 4:

Find ten rational numbers between _?zand%.

Answer 4:
-2 1 8 10 :
—and- can be represented as -—and — respectively.
5 2 200 20

Therefore, ten rational numbers between %and% are

3 B # A A F 1 | B
207 20°

20 207 207 207 207720720

Question 5:
Find five rational numbers between
L2 4
i) = and —
{) an 5

Answer 5:
(i) 2 and ¥ canbe represented as3Y g 36 respectively.
3 5 45 45

Therefore, five rational numbers between % and g are

31 32 33 34 35

4574574574545
i 1 5 9 10 .
(ii) . and 5 can be represented as = and = respectively.

Therefore, five rational numbers between —% and 2 are

8 7 5 4

e Pt

]

606 6 6
S e 8 16 .
(iin) . and X can be represented as 5 and ) respectively.

Therefore, five rational numbers between % and %are

9 10 11 12 13

32732"32732"32
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Question 6:

Write five rational numbers greater than - 2.

Answer 6:

-2 can be represented as —?.

Therefore, five rational numbers greater than -2 are
13 12 11 10 9

,_Ilra _Ilra ?5 ?‘. ?

Question 7:

Find ten rational numbers between %and%.

Answer 7:

3 and? can be represented as & g respectively.
5 4 80 80

Therefore, ten rational numbers between %and% are

49 50 51 52 53 54 55 56 57 58
80780 8080 80780 80 80 80 80
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